) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g A kg | HEJI| D OIIIES
27 RHEAB (H/H) 5/19 8/4 10/27 1/26 O
R AR A EA] (RF:5)) 7:25 7:28 7:05 8:04 || F
- A E Pt Pl it Pl
== 7K % (m) 4.1 4.8 4.1 4.6
gl B k& =g <& g FJE
- B j:< @ = i i N
ol IS iH (C) 18.5 31.2 14.6 3.0
ried IS i (C) 22.0 28.0 20.9 11.9
il @, +H ikt o | MEhkfs | ke TR
S = T KR | BT A R | ) s B | 1) 1 g B2
gl B (m) L1 1.0 1.7 2.2 1.5
75 15 B (em) |> 100 [> 100 [> 100 [> 100 > 100
15 | A pH 7.3 7.5 7.1 7.5 7.4
i DO (mg/L) 7.1 8.2 5.2 7.6 7.0
" BOD (mg/L) 3.0 3.3 1.5 1.9 2.4
B COD (mg/L) 7.4 7.0 2.6 6.2 5.8
H |5 SS (mg/L) 1 2 2 1 2
mLE = % (mg/L) 11.3 7.25 9.45 13.2 10.30
S B (mg/L) 1.55 0.825 1.03 1.44 1.21
HI =% [iD g (mg/L) 0.03 0.02 0.02 0.02 0.02
1 K X v A (mg/L) < 0.001 [< 0.001 [< 0.001 [< 0.001 |[< 0.001
el 2 ¥ 7 v (mg/L))< 0.1 < 0.1 [< 0.1 [< 0.1 f< 0.1
53 i) (mg/L) < 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
HOL S i 7 v s (me/L) )< 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
H At F  (mg/L) [< 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
a 7K S8 (mg/L) |< 0.0005|< 0.0005|< 0.0005[< 0.0005[< 0.0005
¥ Ei] (mg/L) < 0.02 |< 0.02 |< 0.02 |< 0.02 [[< 0.02
w8k (me/L) 0.09 0.11 0.09 0.16 0.11
/s mrE~> B> (mg/L) 0.03 0.04 0.05 0.03 0.04
H 7 = 2 (mg/L) < 0.02 |< 0.02 |< 0.02 |< 0.02 [[< 0.02
WAk W A4 A4~ (mg/L) 1330 1490 5070 1130 2255
z MBAS (mg/L) 0.05 0.04 0.06 0.04 0.05
ToE=TMHEFE (ng/L) 0.06 0.07 0.23 0.21 0.14
) Mg ERrEE SR (mg/L) 0.02 0.04 0.09 0.09 0.06
[l E (mg/L) 10.5 6.14 8.90 12.5 9.51
f "% W P B (me/L)| 150 | 0.783 | 0984 | 139 1.16
E A s 8 E oavel 3130 5040 10900 3500 5643
OB oK OB T)= INE] T)E TE
. 7K i (C) 22.1 29.5 23.0 16.5
= = B P T KR | MR Ji B
N 75 i J&€  (cm) 69 73 79 [> 100 80
L[ A pH 7.4 7.3 7.6 7.7 7.5
i DO (mg/L){< 05 [< 05 1.4 2.4 1.2
I | BOD (mg/L) 2.8 4.2 2.7 2.3 3.0
o COD (mg/L) 4.7 6.1 4.3 4.6 4.9
alus SS (mg/L) 3 3 4 6 4
=~ = S % (mg/L) 2.13 1.93 1.57 2.02 1.91
Hl 4 B (mg/L)|] 0.413 0.439 0.209 0.263 0.331
WAk W A 4~ (mg/L) 13000 11600 17000 15600 14300
T [7o==7W%% mg/L| o1l 1.02 0.42 0.31 0.62
» MRtz (me/L) 0.11 [< 0.01 0.09 0.09 0.08
[ e (mg/L) 0.32 0.01 0.58 1.12 0.51
o LR BR ME BE (mg/D)) 0.315 | 0.381 | 0.190 | 0.228 0.279
A B8 E oaeel 36300 31000 | 45900 43300 39125




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g JEANE wrE | BRI D K
27 RHEAB (H/H) 5/19 8/4 10/27 1/26 O
R AR A EA] (RF:5)) 8:10 8:39 7:58 8:46 || F
. A E Pt Pl it Pl
== 7K % (m) 3.0 4.0 3.2 3.5
BRI KB =g )= g g
B S o = i i g
I " (C) 18.5 3.9 153 1.0
et IS i (C) 21.7 29.6 21.6 10.0
i @, +H ikt o | MEhkfs | Wohkfh TR
S = (A Y K W KR
5 75 B - (m) 1.7 1.5 2.7 2.2 2.0
% i B (em) |> 100 |> 100 [> 100 100 > 100
18 | A= pH 7.2 7.6 7.4 7.2 7.4
- DO (mg/L) 7.5 7.6 6.1 7.7 7.2
" BOD (mg/L) 2.7 2.9 1.5 1.2 2.1
bt COD (mg/L) 7.1 6.8 3.6 4.8 5.6
H |5 SS (mg/L) 1 3 2 2 2
w2 = # (mg/L)|  8.72 5.42 8.80 9.44 8.10
S B (mg/L) 1.26 0.726 0.936 1.06 0.996
HI 2% 4 (mg/L) — — — - -
7 F 2 v A (mg/L) — — — — -
wmle v 7 v (mg/L) — — — — -
JE &h (mg/L) — — — — -
Wl AN i 7 v & (mg/L) — — — — -
H fit F# (mg/L) — — — — -
i 7K R (mg/L) — — — — -
¥ ki (mg/L) — — — — —
ol B M B (meg/L) — — — — -
B I amti~y 7> (mg/L) - = = = -
H v = 2 (mg/L) — — — — -
WAt W A 4~ (mg/L) 1590 4760 7390 3670 4353
z MBAS (mg/L) - — _ — _
TUoE=TEESE (mg/L) 0.36 0.27 0.21 0.23 0.27
D etz R (mg/L) 0.02 0.06 0.09 0.10 0.07
[ E=ER (mg/L) 7.81 4.58 7.76 8.70 7.21
I % m % B (me/L) 1.23 0.675 0.896 1.01 0.953
E R E 8 B oty 6450 10800 8120 11800 9293
BB oK ®E T/E INE] INE] INE
. 7K i (C) 22.3 29.6 22.0 17.0
R = Ji 5 fiE 5 iR Ji 5
. 5 5 B (cm) 64 77 1> 100 100 85
| e b 7.4 7.6 7.8 8.0 7.7
o DO (mg/L) 1.0 3.8 3.2 5.8 3.5
T | BOD (mg/L) 2.2 3.9 1.2 1.5 2.2
o COD (mg/L) 4.4 5.7 2.4 3.2 3.9
Al SS (mg/L) 3 5 4 3 4
=~ & = F# (mg/L) 2.72 1.78 1.44 2.21 2.04
A 4 B (mg/L)| 0.346 0.304 0.160 0.146 0.239
WAk W A A4~ (mg/L) 13700 13100 16100 16400 14825
€ ToE=TEEFE (mg/L) 1.37 0.71 0.25 0.25 0.65
o fpgEerEEFR (me/L) 0.15 0.03 0.05 0.09 0.08
RE Rl E %2 3R (mg/L) 0.91 0.28 0.37 1.53 0.77
o L B M OBE (mg/D)| 0277 | 0.222 | 0.140 0.129 0.192
E A S8 E L o.ea] 40800 | 34900 [ 48000 43400 41775




W& H 54 AKiges | A $RA HIE T A 44
IN
i R s | BEN| D OIITES
27 HWEAB (A/H) 5/19 8/4 10/27 1/26 g
AR FHATIREZ] (FF:43) 8:43 9:02 8:33 9:07 NS
- B I Ar E Pl Qi Qi Qi
= 7K % (m) 4.2 4.9 4.3 4.5
gl B B ok < JE g g 7<)
TR f & i i i
U - (°C) 19.0 32.4 15.9 4.8
| K () 22.0 29.6 19.2 12.5
. i) {B ekt |Riktata| WEkkt | ke
R R = I K WA S L
g 75 gl E (m) 2.1 1.3 2.8 2.1 2.1
% 5 E  (cm) 100 |> 100 [> 100 100 |> 100
17 | A= pH 7.5 7.5 7.2 7.3 7.4
- DO (mg/L) 7.9 7.5 5.6 7.3 7.1
5 BOD (mg/L) 2.5 3.4 1.2 1.8 2.2
Br COD (mg/L) 5.1 7.7 3.3 4.7 5.2
H |5 SS (mg/L) 2 3 3 1 2
mlLeE =  #F (mg/L))| 7.73 5.42 7.02 10.3 7.62
IS % (mg/L) 1.00 0.504 0.726 0.224 0.614
T & & megD] - - - - -
B K I v A (mg/l) - - - - -
|l & ¥ 7 v (mg/L) — - - - -
/53 pie) (mg/L) - - - - -
Wl A 7 2 A (mg/L) - - - - -
A & (mg/L) - - - - -
TR 7K #R (mg/L) — - - . _
T ki (mg/L) - — - - -
ol B M P B (ng/L) - - - - -
H [Vt~ 1 (mg/L) . . . - -
H 7 5 & (me/l) B B B - -
WAk ¥ A 4 > (mg/L) 2910 3970 6410 8520 5453
Z MBAS (mg/L) - - - — —
ToE=THEZE (mg/L) 0.45 0.94 0.33 2.74 1.12
%) fafetEEFE (ng/L) 0.03 0.12 0.08 0.54 0.19
e (mg/L) 7.17 3.98 6.14 6.36 5.91
e "B w 7 % (meg/L)| 0.978 0.410 0.709 0.175 0.568
A s B R o.eel 12600 | 14100 | 18200 | 24700 17400
B K TR TE INE! INE! e
. 7K B (C) 22.6 29.4 21.2 15.5
= = MR |BREKER| R Ji: 5
. 75 i E  (cm) 92 61 |> 100 100 88
[ A pH 7.5 7.6 7.8 8.2 7.8
T DO (mg/L)| 1.5 [< 05 4.4 6.7 3.3
T | g BOD (mg/L) 2.6 3.4 1.2 1.9 2.3
- COD (mg/L) 3.4 5.5 2.5 3.7 3.8
Al SS (mg/L) 2 3 2 4 3
i == = #  (mg/L) 2.13 1.70 1.22 1.58 1.66
H % B (mg/L)] 0.307 0.327 0.126 0.089 0.212
Ak W A4 4~ (mg/L) 14100 14600 16900 17000 15650
€ ToE=THESR (ng/L) 0.93 0.96 0.26 0.32 0.62
” fgerEE 3 (mg/L) 0.10 0.02 0.04 0.07 0.06
REme a2 (mg/L) 0.58 0.12 0.69 0.93 0.58
i LR MR P OB (mg/D)| 0.247 | 0.263 | 0.108 | 0.071 0.172
B A s 8 R ogen] 41900 | 38000 | 49000 | 46400 43825




) E Hh S 4 A | )14 KA HIE T HT A 44
AN
AR BT R MG R | kEwmEm|  C d 1 X
27 RHEAB (H/H) 5/19 8/4 10/27 1/26 O
A FHAREZ] (RF:47) 9:03 9:47 8:57 9:36 By
. A E Pt Pl it Pl
== 7K % (m) 3.6 4.5 3.4 3.7
gl B M KR =g <& g FJE
- - E @ i = 5 i i3
ol I iH (C) 19.5 33.0 18.2 6.0
et IS i (C) 22.9 30.1 23.4 16.0
i @, 115 Hte H%rfﬁ%%@ fﬁ%%%é FEB A
S = PR | e R | g e | R
5 75 B - (m) 1.9 1.7 2.3 2.0 2.0
% i o (cm) 85 |> 100 |> 100 100 96
18 | A= pH 7.4 7.2 7.0 7.3 7.2
- DO (mg/L) 5.0 6.2 4.4 6.6 5.6
BOD (mg/L) - - - - —
Br COD (mg/L) 8.9 8.0 5.1 4.4 6.6
H |55 SS (mg/L) 2 2 8 1 3
w2 = % (mg/L) 14.4 10.0 9.74 11.5 11.4
S B (mg/L)|  0.360 0.268 0.205 0.283 0.279
HI 2% 4 (mg/L) . - . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
H| A fli 7 v & (mg/L) - - - - -
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ] (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
Sl = A (mg/L) - — - - _
WAt W A 4~ (mg/L) 6750 8600 8950 8420 8180
z MBAS (mg/L) - = _ — _
TUoE=TEESE (mg/L) 6.49 3.00 0.81 2.90 3.30
D etz R (mg/L) 1.28 0.30 0.18 0.59 0.59
LS =E (mg/L) 3.50 6.27 7.74 7.40 6.23
I % m % % (me/L)|  0.250 0.183 0.143 0.225 0.200
E R s 8 OE oyl 16500 13200 | 25000 24500 19800
BB oK ®E T/E T)E INE] INE
. 7K i (C) 22.8 29.7 23.3 17.0
R = PP KRB PP KRR | R Ji 5
N 5 5 B (ecm) |> 100 74 |> 100 100 94
| e b 7.1 7.8 7.1 8.1 7.8
i DO (mg/L)] 34 3.3 3.1 6.1 4.0
I | g BOD (mg/L) - - - - -
o COD (mg/L) 4.5 4.7 2.2 2.5 3.5
Al SS (mg/L) 3 4 5 5 4
=~ & = F# (mg/L) 2.91 1.62 1.43 1.34 1.83
A 4 B (mg/L)] 0.239 0.224 0.126 0.107 0.174
WAk W A A4~ (mg/L) 14900 14400 16900 18400 16150
€ ToE=TEEFE (mg/L) 1.01 0.61 0.15 0.37 0.54
o fpgEerEEFR (me/L) 0.16 0.06 0.04 0.06 0.08
RE Rl E %2 3R (mg/L) 0.79 0.56 0.71 0.66 0.68
o L B M BE (mg/D)| 0.177 | 0.172 | 0.105 0.093 0.137
E R B E E 0.l 40900 | 38500 | 49200 47700 44075




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g )G HOE | iEER | C ST
27 RHEAB (H/H) 5/19 8/4 10/27 1/26 O
A FHAREZ] (RF:47) 9:31 10:12 9:18 10:03 By
. G VA ¥ AR O | AR O | AR O | AR D
B == 7K % (m) 4.5 5.3 4.6 4.9
BRI KB =g )= g g
B PN e = i i iE
I " (C) 19.8 3.7 19.6 6.2
et IS i (C) 22.3 30.3 20.2 15.9
i @, +H A 0 | iRkt {ﬁ%@ TR
S = PREKRE| MR | fRygse | MR
5 75 B - (m) 1.7 1.7 2.9 2.4 2.2
% i o (cm) 96 |> 100 |> 100 100 99
18 | A= pH 7.4 7.6 7.2 7.3 7.4
. DO (mg/L) 5.6 6.5 5.3 6.6 6.0
i BOD (mg/L) - - - - —
Br COD (mg/L) 7.2 6.8 4.4 4.5 5.7
H |5 SS (mg/L) 4 1 3 1 2
w2 = # (mg/L)|  9.24 5.87 7.21 12.0 8.58
S B (mg/L)|  0.586 0.506 0.540 0.281 0.478
HI 2% 4 (mg/L) . - . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
Wl AN i 7 v & (mg/L) - - - - -
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
H v = 2 (mg/L) - - — = -
WAt W A 4~ (mg/L) 6570 4720 7680 9330 7075
z MBAS (mg/L) - = _ — _
TUoE=TEESE (mg/L) 1.50 1.17 0.77 3.85 1.82
D etz R (mg/L) 0.56 0.12 0.11 0.57 0.34
LS =E (mg/L) 4.47 4.18 5.83 6.57 5.26
I % m " % (mg/L)| 0489 0.455 0.497 0.231 0.418
E R s 8 OE oyl 18600 14300 | 22600 26000 20375
BB oK ®E T/E INE] INE] INE
. 7K i (C) 22.6 29.5 21.1 15.2
R = WEpe | MR iR Ji 5
. 5 5 B (cm) 55 59 |> 100 100 79
| e b 7.6 7.7 7.8 8.2 7.8
i DO (mg/L)| 0.6 1.8 4.2 6.1 3.2
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 3.8 4.4 2.7 2.6 3.4
Al SS (mg/L) 2 4 6 6 5
=~ & = F# (mg/L) 1.58 1.51 1.14 1.26 1.37
A 4 B (mg/L)| 0.286 0.253 0.119 0.098 0.189
WAk W A A4~ (mg/L) 16600 15000 16800 18300 16675
€ ToE=TEEFE (mg/L) 0.94 0.63 0.27 0.32 0.54
o fpgEerEEFR (me/L) 0.15 0.06 0.03 0.05 0.07
RE Rl E %2 3R (mg/L) 0.24 0.24 0.55 0.66 0.42
o L B M BE (mg/D)| 0216 | 0.196 | 0.105 0.077 0.149
E A S8 E L.l 43300 | 39400 [ 49100 47500 44825




W& H 54 AKiges | A $RA HIE T A 44
IN
e JUH T H B | B | C OIS
27 HWEHHB (A/H) 5/19 8/4 10/27 1/26 g
AR FHATIREZ] (FF:43) 10:08 11:03 9:53 10:53 || S
- I VA JERE JERE JERE SR
= 7K % (m) 5.0 5.6 5.8 5.4
gl B B ok *JE g g 7<)
| X oz & i i i
U B (C) 21.0 34.6 18.4 6.2
| K i (C) 21.4 30.2 20.8 13.7
s @, A T, | e r’ﬁ?’ﬁ%@ r’ﬁ%’r%@
R R = T 7K R | T 7K R | i i B | i e R
g 75 gl E (m) 1.6 1.3 3.3 2.8 2.3
% 5 E  (cm) 73 67 |> 100 [> 100 85
17 | A= pH 7.8 8.1 7.6 7.9 7.9
. DO (mg/L) 6.0 8.7 4.8 7.5 6.8
i BOD (mg/L) - - - - -
BR COD (mg/L) 5.7 6.0 3.5 2.7 4.5
H |5 SS (mg/L) 7 5 7 2 5
B = F# (mg/L)|  2.58 2.67 2.16 3.61 2.76
IS B (mg/L)]  0.239 0.235 0.147 0.130 0.188
A2 &% & e/ 0.0l 0.01 |<_ 0.0l 0.01 0.01
1K I 7 A (mg/L) < 0.001 [< 0.001 [< 0.001 |< 0.001 < 0.001
el & ¥ 7 v (mg/L)J< 0.1 |< 0.1 < 0.1 [< 0.1 J[< 0.1
/53 pie) (mg/L) |< 0.005 |< 0.005 |< 0.005 [< 0.005 [[< 0.005
1] Nl 7 v A (mg/L) [<0.02 < 0.02 |< 0.02 [< 0.02 [[< 0.02
H fitt #  (mg/L) < 0.005 [< 0.005 [< 0.005 |< 0.005 [[< 0.005
e 7K g8 (mg/L) |< 0.0005[< 0.0005[< 0.0005[< 0.0005|[< 0.0005
F &l (mg/L) 0.05 0.03 |< 0.02 |< 0.02 0.03
ol w M M B me/D]< 005 [< 0.05 [< 005 [< 005 [[< 0.05
H [ EmE~r 7> (mg/L) 0.05 |< 0.02 0.03 0.02 0.03
H Vi = 2 (mg/L) [< 0.02 [< 0.02 [< 0.02 [< 0.02 [[< 0.02
"Wk A4 (mg/L)] 13500 | 11400| 16500 15000 [ 14100
z MBAS (mg/L) 0.04 0.05 0.04 0.03 0.04
ToE=THEZE (mg/L) 0.87 0.17 0.06 0.93 0.51
%) fafetEEFE (ng/L) 0.22 0.11 0.07 0.17 0.14
e (mg/L) 1.42 1.57 1.49 2.33 1.70
i "B ® % %% (me/D)| 0.65 | 0139 | 0.126 | 0.095 | 0.131
O s EOR Loaeel 36200 | 29000 | 46100 | 40600 37975
RO oK OB = TE INE] T
. K B (C) 18.6 26.7 20.1 13.3
R = MR || MR Ji 5
. i 5 E  (cm) 70 95 |> 100 [> 100 91
R A pH 7.9 8.0 7.7 8.2 8.0
= DO (mg/L)| 3.3 2.7 4.1 7.1 4.3
I | BOD (mg/L) - - - - -
s COD (mg/L) 3.8 4.7 2.4 1.7 3.2
e SS (mg/L) 8 4 5 5 6
=~ & = % (mg/L) 1.27 1.47 0.97 0.93 1.16
A % B (mg/L)| 0.154 0.177 0.100 0.070 0.125
Bk ¥ A4 v (mg/L)] 17300 15000 17400 18200 16975
< ToE=THER (mg/L) 0.45 0.24 0.24 0.18 0.28
5 fEferE=EFE (mg/L) 0.07 0.05 0.03 0.04 0.05
[E[ e (mg/L) 0.42 0.46 0.36 0.53 0.44
i |LBE MR P BE (me/L)| 0.109 | 0.125 | 0.086 | 0.056 0.094
B A s 8 R ogen] 44700 | 39500 | 50300 | 48500 45750




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
e ) 11 Wrd | ral| E OIS
27 RHEAB (H/H) 5/20 8/5 10/28 1/27 O
R AR A EA] (RF:5)) 7:32 7:10 7:20 8:20 | F
. A E L it i it
== 7K % (m) 2.3 2.5 3.0 2.4
gl B M KR =g <& g FJE
B S e & i & NI
I " (C) 92.9 29.8 18.5 4.2
et IS i (C) 21.0 29.0 20.7 11.8
i @, JiE! Rt | KRR | Bk Bk £o
S = MR P hKE|] MmE (R EKE
5 75 B - (m) 1.1 0.7 2.3 2.0 1.5
% i B (em) |> 100 |> 100 [> 100 [> 100 f> 100
15 | 4= pH 7.6 7.6 7.2 7.6 7.5
- DO (mg/L) 6.3 5.6 7.2 8.5 6.9
" BOD (mg/L) 1.0 1.3 1.0 1.8 1.3
bt COD (mg/L) 2.0 3.0 2.6 2.4 2.5
=N SS (mg/L)J< 1 < 1 < 1 < 1 I 1
w2 = # (mg/L) | 3.22 3.44 3.15 3.42 3.31
S B (mg/L) ] 0.042 0.048 0.057 0.044 0.048
HI = i # (mg/L) < 0.01 |< 0.01 [< 0.01 |< 0.01 [[< 0.01
1 K X v A (mg/L) < 0.001 [< 0.001 [< 0.001 [< 0.001 |[< 0.001
|l & ¥ 7 v (mg/L)J< 0.1 [< 0.1 [< 01 [< 0.1 < 0.1
53 i) (mg/L) |<0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
IR Nl 7om 2 (mg/L) < 0.02 [<0.02 [< 0.02 [< 0.02 < 0.02
H filk F (mg/L) [< 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
o 7K g1 (mg/L) |< 0.0005|< 0.0005|< 0.0005[< 0.0005(< 0.0005
iS ] (mg/L) < 0.02 |< 0.02 |< 0.02 |< 0.02 [[< 0.02
wolw M o 8 (mg/L]< 005 0.11 [< 0.05 [< 0.05 0.07
I§ WM~ Y (mg/L) 0.06 0.12 0.02 0.18 0.10
Y = A (mg/L) [< 0.02 < 0.02 |[< 0.02 |[< 0.02 [[< 0.02
WAt W A 4~ (mg/L) 1810 1830 3660 3030 2583
z MBAS (mg/L) 0.05 0.02 0.03 0.03 0.03
TUoE=TEESE (mg/L) 0.19 0.04 0.09 0.10 0.11
D faEerEzEF (mg/L) < 0.01 0.04 0.01 0.03 0.02
[ E=ER (mg/L) 3.00 2.77 2.83 3.09 2.92
I % m % % (me/L)| 0.033 0.037 0.048 0.039 0.039
E R E 8 B oty 6460 6080 11900 9780 8555
BB oK ®E T/E T)E INE] INE
. K i (C) 23.0 30.5 21.7 14.7
5= = smiiAs s ifkER| MR L
. 5 5 B (cm) 27 24 |> 100 |> 100 63
| e b 7.2 7.2 7.4 7.6 7.4
i DO (mg/L) |< 0.5 < 05 4.9 6.3 3.1
T | BOD (mg/L) 5.6 12 1.4 3.4 5.6
5 COD (mg/L) 6.8 7.9 3.0 3.5 5.3
Al SS (mg/L) 2 5 2 4 3
=~ & = F# (mg/L) 1.63 2.78 1.57 1.64 1.91
A 4 B (mg/L)] 0.355 0.364 0.160 0.160 0.260
WAk W A A4~ (mg/L) 15700 12700 15700 16700 15200
€ ToE=TEEFE (mg/L) 0.75 1.27 0.47 0.45 0.74
o fpgEerEEFR (me/L) 0.01 [< 0.01 0.04 0.07 0.03
RE Rl E %2 3R (mg/L) [< 0.01 0.02 0.51 0.71 0.31
o L B M BE (mg/D)| 0246 | 0319 | 0.136 0.111 0.203
EOA 8 E o] 42400 34600 | 43000 44700 41175




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g ) |G SO M| C OIIIES
27 RHEAB (H/H) 5/20 8/5 10/28 1/27 O
R AR A EA] (RF:5)) 8:13 7:46 8:10 8:50 | F %
5 B O A % Tt | T s | TR | SR,
== 7K % (m) 1.7 2.3 1.9 2.0
BRI KB =g )= g g
B PN e & i i NI
I " (C) 92.4 30.6 18.4 3.8
et IS i (C) 22.9 31.0 21.1 13.2
i @, JiE! o) Mrfkts | Rk TR
S = Ji: 5 fi 5 fiE R Ji: 5
5 75 B - (m) 1.0 1.0 1.9 2.0 1.5
% i B (cm) |> 100 57 |> 100 |> 100 89
18 | A= pH 7.4 7.5 7.2 7.6 7.4
. DO (mg/L) 4.3 3.7 5.6 8.6 5.6
i BOD (mg/L) - - - - —
Br COD (mg/L) 3.6 5.3 3.6 2.4 3.7
H |5 SS (mg/L) 1 3 2 1 2
w2 = # (mg/L)|  2.73 2.59 2.08 2.24 2.41
S B (mg/L)|  0.161 0.177 0.123 0.110 0.143
HI 2% 4 (mg/L) . B . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
Wl AN i 7 v & (mg/L) - - - - -
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
H v = 2 (mg/L) - - — = -
WAt W A 4~ (mg/L) 6150 7760 11700 15800 10353
z MBAS (mg/L) - = _ — _
TUoE=TEESE (mg/L) 0.54 0.60 0.30 0.25 0.42
D etz R (mg/L) 0.01 0.06 0.03 0.05 0.04
LS =E (mg/L) 1.96 1.28 1.43 1.65 1.58
I % m % % g/ 0.122 0.115 0.102 0.086 0.106
A s 8 OE oae] 23800 | 21000 | 32500 32600 27475
BB oK ®E T/E INE] INE] INE
. 7K i (C) 23.2 31.4 21.6 14.7
5= = e S fiE L
. 5 5 B (cm) 57 52 |> 100 |> 100 77
| e b 7.4 7.5 7.4 7.8 7.5
i DO (mg/L)| 0.6 3.0 3.6 6.2 3.4
I | g BOD (mg/L) - - - - -
o COD (mg/L) 4.7 5.9 2.8 2.2 3.9
Al SS (mg/L) 3 6 2 5 4
=~ & = F# (mg/L) 1.58 1.92 1.57 1.54 1.65
A 4 B (mg/L)| 0.346 0.270 0.162 0.126 0.226
WAk W A A4~ (mg/L) 13100 12600 16500 17100 14825
€ ToE=TEEFE (mg/L) 0.73 0.73 0.38 0.37 0.55
o drgfetEz=EFR - (mg/L) < 0.01 0.07 0.04 0.06 0.05
RE Rl E %2 3R (mg/L) [< 0.01 0.39 0.69 0.82 0.48
o L B M BE (mg/D)| 0227 | 0.183 | 0.143 0.107 0.165
E A B8 E L.l 38700 | 34200 [ 43500 45600 40500




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g S s (| C OIS
27 RHEAB (H/H) 5/20 8/5 10/28 1/27 O
A FHAREZ] (RF:47) 8:31 8:15 8:32 9:15 By
. ?/7\} B i E HetEls | tetEhs | B | s
o 7K % (m) 3.0 3.5 3.3 3.3
BRI KB =g <& g FJE
B PN e & i i NI
I " (C) 93.4 31.2 19.4 6.2
et IS i (C) 22.4 30.8 20.7 14.4
i @, JiE! o) H%r(ﬁ%@ o) TR
S = P K8 Ji: 5
5 75 B - (m) 1.2 1.4 2.9 2.8 2.1
% i B (em) |> 100 53 100 100 88
18 | A= pH 7.4 7.7 7.3 7.7 7.5
. DO (mg/L) 4.2 7.2 4.1 7.2 5.7
i BOD (mg/L) - - - - —
Br COD (mg/L) 4.1 5.7 2.8 2.1 3.7
H |5 SS (mg/L) 2 2 1 2 2
w2 = # (mg/L)| 2.3 1.86 1.63 1.51 1.78
S B (mg/L) | 0.279 0.228 0.190 0.116 0.203
HI 2% 4 (mg/L) . . . = -
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) — - — — -
JE &h (mg/L) - — - — -
Wl AN i 7 v & (mg/L) - - - - -
H fit F# (mg/L) - - - - -
i 7K R (mg/L) — - — — -
¥ ki (mg/L) - - - - —
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . - - - -
H v = 2 (mg/L) - - — = -
WAt W A 4~ (mg/L) 10800 11600 16200 16700 13825
z MBAS (mg/L) - = _ — _
TUoE=TEESE (mg/L) 0.96 0.50 0.35 0.30 0.53
D etz R (mg/L) 0.05 0.07 0.05 0.06 0.06
LS =E (mg/L) 0.86 0.56 0.88 0.93 0.81
I % m " % (me/L)| 0208 0.139 0.171 0.093 0.153
A s B OE oawe] 31100 | 32500 | 44700 45200 38375
BB oK ®E T/E T)E INE] INE
. 7K i (C) 23.1 30.7 21.5 15.7
R = e S K8 s e Ji 5
. 5 5 B (cm) 79 47 100 100 82
| e b 7.4 7.5 7.5 8.0 7.6
i DO (mg/L) |<_ 0.5 1.5 1.7 6.0 2.4
I | g BOD (mg/L) - - - - -
o COD (mg/L) 2.9 5.6 3.6 2.6 3.7
Al SS (mg/L) 3 3 5 6 4
=~ & = F# (mg/L) 1.25 1.80 1.41 1.47 1.48
A 4 B (mg/L)| 0.309 0.261 0.165 0.116 0.213
WAk W A A4~ (mg/L) 16100 13800 17800 17700 16350
€ ToE=TEEFE (mg/L) 0.99 0.68 0.49 0.33 0.62
o drgfetEz=EFR - (mg/L) < 0.01 0.05 0.05 0.06 0.04
RE Rl E %2 3R (mg/L) [< 0.01 0.31 0.47 0.74 0.38
o L BR M BE (mg/D)| 0244 | 0.190 | 0.140 0.095 0.167
E A B8 E L o.eal 44100 | 36400 [ 47300 46700 43625




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g i FORES || © N
27 RHEAB (H/H) 5/20 8/5 10/28 1/27 O
A FHAREZ] (RF:47) 9:18 9:03 9:06 9:48 By
. R A el | Pt L Pl
== 7K % (m) 4.8 5.8 5.3 5.4
gl B M KR =g <& g FJE
- - K 1& i & & NI
ol I iH (C) 24.6 32.5 21.5 8.0
et IS EH_(C) 23.3 30.4 21.3 13.2
i @, JiE! FEtB H%rfﬁ%%%@ o) TR
S = P K8 Ji: 5
5 75 B - (m) 1.2 1.6 3.2 2.9 2.2
% i E (cm) 64 49 100 100 78
18 | A= pH 7.6 7.8 7.4 7.8 7.7
. DO (mg/L) 4.8 6.3 4.5 7.0 5.7
i BOD (mg/L) - - = - -
Br COD (mg/L) 6.1 5.4 3.0 2.0 4.1
H |5 SS (mg/L) 3 3 1 2 2
w2 £ % (mg/L) 3.01 2.10 1.50 1.68 2.07
S B (mg/L)| 0.288 0.230 0.191 0.146 0.214
HI 2% 4 (mg/L) B - . . .
7 F 2 v A (mg/L) - - - - -
wmle v 7 v (mg/L) - - — — ~
JE &h (mg/L) - — - — -
H ol N M 7 2 A (mg/L) — - - - -
H fit F# (mg/L) - - - - -
i 7K R (mg/L) - - — — —
¥ ki (mg/L) - - - - -
ol B M B (meg/L) - - - - -
B I amti~y 7> (mg/L) . _ - - B
H v = 2 (mg/L) - - — = —
WAt W A 4~ (mg/L) 13500 11400 15700 16200 14200
z MBAS (mg/L) - - - - -
TUoE=TEESE (mg/L) 1.03 0.58 0.34 0.31 0.57
D etz R (mg/L) 0.24 0.09 0.05 0.06 0.11
LS =E (mg/L) 0.98 0.77 0.90 1.10 0.94
I % m % % (me/L)|  0.199 0.152 0.171 0.132 0.164
A s B OE owwel 37800 | 32100 | 45400 44100 39850
BB oK ®E T/E T)E INE] INE
. 7K i (C) 22.3 28.3 21.9 16.4
R = MR | e | R Ji 5
. 5 5 B (cm) |> 100 85 100 100 96
e[ pH 7.1 7.8 7.1 8.2 7.9
o DO (mg/L) 2.4 1.5 3.4 5.8 3.3
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 3.0 3.4 2.6 1.8 2.7
Al SS (mg/L) 2 2 5 6 4
=~ & = F# (mg/L) 1.25 1.64 1.18 1.05 1.28
A 4 B (mg/L)| 0.175 0.193 0.118 0.096 0.146
WAk W A A4~ (mg/L) 17300 14600 17100 18200 16800
€ ToE=TEEFE (mg/L) 0.53 0.55 0.29 0.30 0.42
o fpgEerEEFR (me/L) 0.07 0.06 0.04 0.04 0.05
RE Rl E %2 3R (mg/L) 0.33 0.41 0.51 0.51 0.44
o L B M BE (mg/D)| 0.143 | 0.161 0.099 0.079 0.121
E A B8 E L o.ea]l 46400 | 39700 [ 49400 48200 45925




) E Hh S 4 A | )14 FR HIE T HT A 44
PAN
ke V5 G HURTS || C S X
27 RHEAB (H/H) 5/20 8/5 10/28 1/27 O
R AR A EA] (RF:5)) 10:06 | 9:48 9:32 10:20 | %
. A E L it i HE
== 7K % (m) 4.3 4.8 4.2 3.8
gl B M KR =g <& g FJE
- - K @ fii§ 5 & i3
ol I B (C) 26.7 32.4 22.0 10.2
et IS i (C) 22.5 29.8 21.5 14.1
i @, tH ﬁ%i‘%é Krket| ke TR
S = e | dmE fiE R Ji: 5
5 75 B - (m) 1.5 1.5 3.4 2.1 2.1
% i o (cm) 90 68 |> 100 |> 100 90
15 | 4= pH 7.7 7.8 7.6 8.0 7.8
. DO (mg/L) 5.9 4.5 5.0 7.0 5.6
i BOD (mg/L) - - = - -
Br COD (mg/L) 5.4 5.2 2.9 2.4 4.0
H |5 SS (mg/L) 3 2 1 4 3
w2 £ % (mg/L) 4.00 3.15 2.00 2.08 2.81
S B (mg/L)|  0.239 0.232 0.223 0.237 0.233
HI = i $n (mg/L) 0.01 0.01 [< 0.01 |< 0.01 0.01
1 K X v A (mg/L) < 0.001 [< 0.001 [< 0.001 [< 0.001 |[< 0.001
|l & ¥ 7 v (mg/L)J< 0.1 [< 0.1 [< 01 [< 0.1 < 0.1
53 i) (mg/L) |<0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
IR Nl 7om 2 (mg/L) < 0.02 [<0.02 [< 0.02 [< 0.02 < 0.02
H filk F (mg/L) [< 0.005 [< 0.005 |< 0.005 |< 0.005 [[< 0.005
o 7K g1 (mg/L) |< 0.0005|< 0.0005|< 0.0005[< 0.0005(< 0.0005
iS Fi ] (mg/L) 0.05 0.03 [< 0.02 |< 0.02 0.03
wol s e M 8k (mg/L) 0.05 [< 0.05 [< 0.05 [< 0.05 0.05
I§ WM~ Y (mg/L) 0.07 [< 0.02 0.03 [<  0.02 0.04
Z = A (mg/L) [< 0.02 < 0.02 |[< 0.02 |[< 0.02 [[< 0.02
WAt W A 4~ (mg/L) 13000 12400 15300 16900 14400
z MBAS (mg/L) 0.05 0.04 0.04 0.02 0.04
TUoE=TEESE (mg/L) 1.44 0.36 0.26 0.29 0.59
D etz R (mg/L) 0.37 0.10 0.04 0.05 0.14
LS =E (mg/L) 1.54 1.67 1.34 1.54 1.52
I % m % % (me/L)|  0.169 0.174 0.200 0.224 0.192
A s R qeayal 36600 31200 | 45200 44300 39325
BB oK ®E T/E T)E INE] INE
. 7K i (C) 22.0 30.1 22.4 17.2
R = Ji 5 fiE 5 iR Ji 5
N 5 5 B (ecm) |> 100 80 [> 100 |> 100 95
c3ps pH 7.8 7.9 7.7 8.2 7.9
i DO (mg/L) 3.1 1.5 3.6 5.8 3.5
I | g BOD (mg/L) - - - - -
5 COD (mg/L) 3.0 3.4 2.8 1.9 2.8
Al SS (mg/L) 5 2 3 4 4
=~ & = F# (mg/L) 1.31 1.48 1.20 1.29 1.32
A 4 B (mg/L)] 0.184 0.188 0.126 0.107 0.151
WAk W A A4~ (mg/L) 16500 15000 16400 19500 16850
€ ToE=TEEFE (mg/L) 0.51 0.30 0.22 0.27 0.33
o fpgEerEEFR (me/L) 0.08 0.05 0.04 0.05 0.06
RE Rl E %2 3R (mg/L) 0.36 0.41 0.61 0.79 0.54
o L B M BE (mg/D)| 0147 | 0.149 | 0.107 0.095 0.125
B R B H E 0.0l 45800 | 40400 | 49200 47400 45700




